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NAME: ID: Section:

Exercise 1 (5 points)

The series ZM is
= n+2

Not Conditionally convergent

Conditionally convergent

Absolutely convergent

Divergent by AST

Divergent by Divergence Test

© n p-3
Exercise 2 (spoints). Let P be a positive integer. All values of p for which the series 21
n=3 +— e

is

-n

divergent are:

p<3
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Exercise 1 (5 points)

2 (=1D)" Inn
The series Z% is
n=3 n

Not Conditionally convergent

Conditionally convergent

Absolutely divergent

Divergent by AST

Divergent by ratio Test

Exercise 2 (5points). Let P be a positive integer. All values of pfor which the series

i sin((2n+21)x)

is convergent are:
nP>

n=1







